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% b1 # # X fé B = ¥
B Kk I
kT 500 X 500 BP ~ BP +6.45 m 7.5
& it m 7.5
EEREGTR 500 X 500 BP +7.45  ~ BP +9.45 m 2.0
& &t m 2.0
EEAEGHHBR) 500 % 500 BP +9.45  ~ BP +18.45 | m 9.0
& &t m 9.0
gk 700 700 BP +6.45  ~ BP +7.45 = 1.0
& it =R 1.0
BkK [ LERR 5008 BP +0.90 ~ BP +1.90 = 1.0
BkK [ LERR 500 BP <4.95 ~ BP +5.95 = 1.0
& &t =® 2.0
avyU—+84 120X 120 BP +6.45 m 7.4
& &t m 7.4
1EJKEET BP -1.16 = 1.0
& &t = 1.0
BEERKEREIRT BP -1.16 = 1.0
& &t = 1.0
x &8 I
RO Y—+ t=10cm BP ~ BP +6.45 | m2 52.7
& &t m2 52.7
(8 % I
avy Yy — MMEE T g BP +6.45 ~ BP +18.45 | m2 69.4
& &t m2 69.4
1HBfiE B #h BP +6.45  ~ BP +18.45 | m?2 1.3
& &t m2 1.3
(ZEMmET)
H— KL—IiLEE BP +6.45 m 9.0
& &t m 9.0
H—KL—ILEE (WEEZ) BP +6.45 m 9.0
& &t m 9.0
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B i & t B | HEH 6 B B | HEH 6 B % B | HEH 6 B * ® = 5 & m OB & 5 & WA 5 &
B.P 0. 40 0. 50 1.20 1.50 0.90 1.13 0. 50 0. 63
+2.5 0.30 2.50 0. 60 0. 40 2.50 0. 80 2.20 2.50 1. 40 0.10 2.50 0. 20
+1.0 0. 20 1.50 0. 10 1.50 1. 40 1.50 8. 69 1.50
+6. 45 0.10 2.45 0.12 2.45 6.90 2.45 8.45 2.45
+6. 45 0. 50 0.26 6. 10 3.20
+7.50 0. 60 1.05 0.32 1.05 1. 00 1.05 2. 10 1.05
+7. 50 1. 50 1. 88 1. 00 1.25 0.30 0.38
+10. 00 1. 50 2.50 3.71 1. 00 2.50 2.48 2.50 0.30 2.50 0. 74
+12. 45 1. 20 2.45 5. 07 1.00 2.45 1.23 2.45 0.30 2.45 1.27
+18. 45 0. 10 6. 00 1.20 1. 00 6. 00 3.00 6. 00 0.30 6.00 0. 90
B 18. 45 14. 06 18. 45 13. 26 18.45 | 27.97 18.45 112
= 14. 06 13.26 27.97 1.12
5 b 1R
FTRL) 14. 06 + 13. 26 = 27.97 /0.9 - 1.12 /0.9 = 8.31 (FRL)




